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XX 9 8 & ® B REEREHE | fIEEREEH =7 =2
ZEEENA 18, 380, 786 18, 097, 465 283, 321
NEERRINA 4, 835, 920 4, 367, 040 468, 880

i EEEE A (1) 23,216,706| 22, 464, 505 752, 201
g ANEFEZH 19, 115, 114 18, 353, 439 761, 675
uﬁy EXEH 2,783,232 2, 824, 866 A 41,634
%?g 88T H 40, 000 40, 000 0
EREE ZHE  (2) 21,938,346| 21,218,305 720, 041
FERFINETR3)=(1)-(2) 1,278, 360 1, 246, 200 32, 160
E EXEHN DAF  (4) 0 0 0
g SRR ASSZ T 1,278, 360 1, 246, 200 32, 160
% EXFPN HE (5) 1, 278, 360 1, 246, 200 32, 160
@ | EEEMHREEEE)=4)-O) A1,278360 | /A 1,246,200 A\ 32,160
BN Z=5(7) 0 0 0
5 %R WA (8)
x BRI EHE (9)
g’% RN SZ Z A (10)=(8)-(9)
LHAEENINZ Z%E(11)=(7)+(10)
%ﬂz AR = (12)
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%Mé REFRHCEENIN T ZHR(14) = 13)




